105 ....I....I....I....I....I....

| lllluluuuuluuuuuuuuuuuuuuu.llllll|

r | ]IIIIT’ITInnllrlnrnnllnnnmrlmnnn‘llﬂ|]|
0.95

=3 -2

-1 0 1 2 3

107}

1072

105

“!I1111|111|:1111111ummuuu:nmuull:“ U|

“:nllmm:lnmml,mmlm:mnn|||:”|||

0.95!

-2 -1 0 1 2 3

—=— DQM_TT__mkFit-DQM_pless_orig
—— DQM_TT__mkFit-DQM_pless_modi2

1072

FRVe)

- :.-.

10%

1y |]][1'|.|['IIIIIII:'II|l|lIIl.]llilllIII:'lIIIYIIII:ITYI|I

Ly s ]

0.95

-1 0 1 2 3

|'|llllluu!1uu|11u!uuuuu!uulIll“!ll

|H”nnm,mmml:nmmn,umn]”:””

w)|

-1 0 1 2 3



	Contents
	Page 1


